Example 1

A Ltd receives a notice to deliver specifying the period 01/01/2009 to 31/12/2009.  The company has APs ending 30/06/2009 and 31/12/2009.

A Ltd incurs flat-rate and tax-related penalties in respect of both APs as follows

	AP End Date


	Flat-rate


	Tax-related



	30/06/2009

	£200


	£1,000



	31/12/2009
	£200
	£1.500


The flat-rate and tax-related penalties are charged by separate determinations for the specified period ended 31/12/2009, as follows

	Flat-rate


	£400



	Tax-related
	£2,500


The company is sent two payslips with each determination, as follows

	
	
	Payslip for



	Flat-rate


	1) APE 30/06/2009
2) APE 31/12/2009

	£200

£200



	Tax-related


	1) APE 30/06/2009
2) APE 31/12/2009
	£1,000

£1,500


